Problem 2.45

Given the network shown, find the possible range of values for the current and power dissipated by the following resistors:
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Suggested Solution
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a) Minimum resistor value = 
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10.01390 386.1 
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Maximum resistor value = 
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Minimum current value = 
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Maximum current value = 
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Minimum power value = 
[image: image9.wmf]100

253.9 mW

393.9

=


Maximum power value = 
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b) Minimum resistor value = 
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Maximum resistor value = 
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Minimum current value = 
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Maximum current value = 
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Minimum power value = 
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175.1 mW
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Maximum power value = 
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